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4.06 x 10° ~1x10° =

3.81 + 10* 1 x10=

9.11 x 10° ~1x10° =

9.05 x 10" = —2x10% =

1.75+ 10* = 1x10° =

9x 10° = 2% 10* =

4x10= 106 =

4x10° = 9x10° =

2.62 x 10* = 5x10° =

1x10° = 10 =
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4.06 x 10" = 4.06 —1 % 10° = —1000
3.81 + 10" = 0.000381 1x10=10

9.11 x 10° = 9110 —1 % 10° =—1000
9.05 x 10° = 9.05 —2 x 10% = =200
1.75 = 10* = 0.000175 1x10° =1

9 x 10° = 9000 2 x 10* = 20000
4% 10 =40 10° = 1000000

4 x 10* = 400 9 x 10° = 9000
2.62 x 10* = 26200 5% 10° = 500000
1 x 10°> = 100000 10% = 100
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